
SAP ABAP table OIL_OIJTS {Oil APPEND to core table (OIJTS retrofitted)}

OIL_OIJTS

VSART [CHAR (2)]

VKTRA [CHAR (2)]

SHTYPE [CHAR (4)]

VEHID [CHAR (10)]

TSSUOMV [UNIT (3)]

TSSUOMM [UNIT (3)]

CYCPUOM [UNIT (3)]

CARRIER [CHAR (10)]

WERK [CHAR (4)]

LGORT [CHAR (4)]

CONLUOM [UNIT (3)]

TPLST [CHAR (4)]

BULTOLUOM [UNIT (3)]

KALSM [CHAR (6)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

RATEUOM [UNIT (3)]

RATEPERD [UNIT (3)]

USAGEUOM [UNIT (3)]

USAGEPERD [UNIT (3)]

BUSTYP [CHAR (4)]

VEL_UOM [UNIT (3)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OIL_OIJTS-CARRIER = LFA1-LIFNR 
0..N

{0,1}

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 OIL_OIJTS-VEHID = OIGV-VEHICLE 
0..N

1

OIRARNBT

MANDT [CLNT (3)]

RNBT [CHAR (4)]

 OIL_OIJTS-BUSTYP = OIRARNBT-RNBT 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 OIL_OIJTS-LGORT = T001L-LGORT 

0..N

1 T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIL_OIJTS-WERK = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIL_OIJTS-BULTOLUOM = T006-MSEHI 

0..N

1  OIL_OIJTS-CONLUOM = T006-MSEHI 

0..N

1  OIL_OIJTS-CYCPUOM = T006-MSEHI 

0..N

1  OIL_OIJTS-RATEPERD = T006-MSEHI 

0..N0..N
 OIL_OIJTS-RATEUOM = T006-MSEHI 

0..N
0..N  OIL_OIJTS-TSSUOMM = T006-MSEHI 0..N

1  OIL_OIJTS-TSSUOMV = T006-MSEHI 
0..N

1
 OIL_OIJTS-USAGEPERD = T006-MSEHI 

0..N

0..N

 OIL_OIJTS-USAGEUOM = T006-MSEHI 

0..N

0..N

 OIL_OIJTS-VEL_UOM = T006-MSEHI 

0..N

0..N

T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

 OIL_OIJTS-VSART = T173-VSART 

0..N

1 T681A

KAPPL [CHAR (2)]

 OIL_OIJTS-KAPPL = T681A-KAPPL 
0..N1

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 OIL_OIJTS-KALSM = T683-KALSM 

0..N

1

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 OIL_OIJTS-KSCHL = T685-KSCHL 

0..N

1

TOIGS

CLIENT [CLNT (3)]

SHTYP [CHAR (4)]

 OIL_OIJTS-SHTYPE = TOIGS-SHTYP 

0..N

1

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 OIL_OIJTS-TPLST = TTDS-TPLST 

0..N

1

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 OIL_OIJTS-VKTRA = TVTR-VKTRA 

0..N

1


